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INTERMEDIATE EXAMINATION-2025 
bUVjehfM,V -2025 

(ANNUAL/okf’kZd)  

   fo’k; %& jktuhfr “kkL= ¼ ,sfPNd ½  

   Subject: POLYTICAL SCIENCE ( Elective ) 
I.A. 

dqy ç”u : 100+30+8 = 138    
Total Questions  : 100+30+8 = 138         
 
(le; % 3 ?kaVs 15 feuV)                ( iw.kkZad :100 )  
[Time : 3 Hours 15 Minutes]            [Full Marks:100]      
 

ijh{kkfFkZ;ksa ds fy, funsZ'k%  
Instructions for the candidates: 

1. ijh{kkFkhZ 𝑂𝑀𝑅 mÙkj i=d ij viuk ç'u iqfLrdk Øekad ¼10 vadksa dk½ vo'; 
fy[ksaA 

Candidates must enter his/her Question Booklet Serial No. (10 Digits) in the 
OMR Answer Sheet. 

2. ijh{kkFkhZ ;FkklaHko vius 'kCnksa esa gh mÙkj nsaA 

Candidates are required to give answers in their own words as far as 
practicable. 

3. nkfguh vksj gkf”k;s ij fn, gq, vad iw.kkaZd fufnZ"V djrs gSaA 

Figures in the right hand margin indicate full marks. 

4. ç'uksa dks /;ku iwoZd i<+us ds fy, ijh{kkfFkZ;ksa dks 15 feuV dk vfrfjDr le; fn;k 
x;k gSA 

15 minutes of extra time have been allotted for the candidates to read the 
questions carefully. 

5. ;g ç'u iqfLrdk nks [k.Mksa esa gS – [k.M&v vkSj [k.M&cA 

This Question booklet is divided into two sections-Section-A and Section-B. 

 

322 
fo"k; dksM% 
Subject Code: 
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6. [kaM&v esa 100 oLrqfu"B ç'u gSa] ftuesa ls dsoy 50 ç'uksa dk gh mÙkj nsuk vfuok;Z 
gSA ;fn 50 Á”uksa ls vf/kd dk mÙkj nsus ij ÁFke 50 ç'uksa dk gh ewY;kadu gksxkA 
çR;sd ç'u ds fy, 1 vad fu/kkZfjr gSA budk lgh mÙkj dks miyC/k djk;s x;s 
OMR mÙkj i=d esa fn;s x;s lgh fodYi dks uhys@dkys c‚y isu ls izxk<+ djsaA 
fdlh Hkh çdkj ds OgkbVuj@rjy inkFkZ@CysM@uk[kwu vkfn dk OMR mÙkj i=d 
esa ç;ksx djuk euk gS] vU;Fkk ijh{kk ifj.kke vekU; gksxkA 

In section A there are 100 objective type questions out of which only 50 
questions are to be answered. If more than 50 questions are answered, then 
only first 50 questions will be evaluated. Each question carries one mark. 
Darken the circle with blue/black ball pen against the correct option on the 
OMR Answer Sheet provided to you. Do not use whitener/liquid/blade/nail 
etc. on OMR Answer sheet /otherwise the result will be treated invalid. 

 

7. [kaM&c esa] 30 y?kqmÙkjh; ç'u gSaA ftuesa ls çR;sd esa 2 vad fu/kkZfjr gSa] ftuesa ls 
fdlh Hkh 15 ç'uksa dk mÙkj nsuk vfuok;Z gSA buds vfrfjDr bl [k.M esa 8 nh?kZ 
mÙkjh; ç'u fn;s x;s gSa] ftuesa ls fdUgha 4 ç'uksa dk mÙkj nsuk gSA çR;sd ç”u ds 
fy, 5 vad fu/kkZfjr gSA 

In Section-B, there are 30 sheet answer type questions, each carrying 2 marks, 
out of which any 15 questions are to be answered. Apart from this, there are 
8 long answer type questions, each carrying 5 marks, out of which any 4 
questions are to be answered. 

8. fdlh izdkj ds bysDVªkWfud midj.k dk iz;ksx iw.kZr;k oftZr gSA 
Use of any electronic appliances is strictly prohibited. 
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[k.M & v / SECTION-A 

oLrqfu"B ç'u / Objective Type Questions 
 

ç'u la[;k 1 ls 100 rd ds ç’u ds lkFk pkj fodYi fn;s x;s gSa] ftuesa ls ,d lgh 

gSA fdUgha 50 ç'uksa ds dk mÙkj vius }kjk pqus x, lgh fodYi dks 𝑶𝑴𝑹  'khV ij 

fpfºur djsaA                   𝟓𝟎 × 𝟏 = 𝟓𝟎 

Questions Nos. 1 to 100 have four options, out of which only one is correct. 

Answer any 50 questions. You have to mark your selected option on the OMR-

Sheet.             50 × 1 = 50 

1. jk"Vªifr ds fuokZpu dh çfØ;k Hkkjrh; lafo/kku fdl vuqPNsn esa of.kZr gS\ 

(A)  vuqPNsn 52 vkSj 53 (B)  vuqPNsn 53 vkSj 54 

(C)  vuqPNsn 54 vkSj 55 (D)  vuqPNsn 55 vkSj 56 

Which article of the Indian constitution prescribe the election process of 

President? 

(A) Articles 52 and 53 (B) Articles 53 and 54 

(C) Articles 54 and 55 (D) Articles 55 and 56 

2. Hkkjr ds jk"Vªifr dh laoS/kkfud fLFkfr D;k gS\ 

(A) jkT; dk v/;{k  (B) 'kklu dk v/;{k 

(C) jkT; vkSj ljdkj dk v/;{k  (D) buesa ls dksbZ ugha 

What is the constitutional position of the President of India? 

(A) Head of state  (B) Head of Government  

(C)    Head of state and government  (D) None of these  

3. dSfcusV ds esgjkc dh vk/kkjf'kyk fdls dgk tkrk gS\ 

(A)  jk"Vªifr (B)  ç/kkuea=h  

(C)  jk"Vªifr ,oa ç/kkuea=h  (D)  buesa ls dksbZ ugha 

Who is called the keystone of the cabinet arch? 

(A) President  (B) Prime Minister  

(C)      President and Prime Minister  (D) None of These 
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4. Hkkjrh; lafo/kku ds fdl vuqPNsn ds vUrxZr] jk"Vªifr ns'kO;kih ladrdky dh 

?kks"k.kk dj ldrs gSa\ 

(A)  vuqPNsn 350 (B)  vuqPNsn 352 

(C) vuqPNsn 356 (D)  vuqPNsn 360 

Under which article of due Indian Constitution, President can declare 

National emergency? 

(A) Article 350 (B) Article 352 

(C) Article 356 (D) Article 360 

5. jk"Vªifr jkT;lHkk esa fdrus lnL;ksa dks euksuhr tkrk gS\ 

(A) 9 (B) 10 

(C) 12 (D) 14 

How many members of Rajya Sabha are nominated by President? 

(A) 9 (B) 10 

(C) 12 (D) 14 

6. jkT; ds 'kklu esa dsUæ dk çfrfuf/k fdls dgk x;k gS\ 

(A)  eq[;ea=h  (B)  jkT;iky 

(C)   fo/kku lHkk lnL; (D)  mPp U;k;ky; 

Who is called the representative of the centre in the government of the 

state? 

(A) Chief Minister  (B) Governor 

(C)    Legislative Assembly Member  (D) High Court 

7. dksbZ ea=h tks laln ;k fo/kk;d ugha gS] mls fdl le; esa laln ;k fo/kk;d 

gksuk vfuok;Z gS\ 

(A) 1 eghus (B) 6 eghus  

(C) 1 o’kZ (D) 3 o’kZ  
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If a minister is neither member of Parliament nor state Legislative, then 

within what tenure he must become a Parliamentarian as state legislative? 

(A) 1 month (B) 6 months  

(C) 1 year (D) 3 years  

8. fdl vuqPNsn ds vUrxZr jkT;ksa esa jk"Vªifr 'kklu yxk;k tk ldrk gS\ 

(A) 350 (B) 352 

(C) 356 (D) 360 

Under which article, President Rule can be imposed in a state? 

(A) 350 (B) 352 

(C) 356 (D) 360 

9. dkSu jkT; ds eaf=ifj"kn dk v/;{k gksrk gS\ 

(A)  jkT;iky  (B)  eq[;ea=h 

(C)  foÙk ea=h  (D)  buesa ls dksbZ ugha  

Who is the head of the council of Ministers in a state? 

(A) Governor  (B) Chief Minister  

(C) Finance Minister  (D) None of these  

10. dkSu Hkkjr ds jk"Vªifr ij egkfHk;ksx yxk ldrk gS\ 

(A)  lqçhe dkVZ  (B) laln  

(C)  eq[; pquko vk;qDr  (D)  buesa ls dksbZ ugha 

Who can impeach the President of India? 

(A) Supreme Court  (B) Parliament  

(C)      Chief Election Commissioner  (D) None of these  

11.  dkSu lk lnu ç/kkuea=h ds f[kykQ vfo'okl çLrko yk ldrk gS\ 

(A) jkT; lHkk (B) yksdlHkk 

(C) yksdlHkk ,oa jkT; lHkk nksuksa  (D) buesa ls dksbZ ugha 

Which house can move no-confidence motion against the Prime 

Minister? 
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(A) Rajya Sabha (B) Lok Sabha 

(C) Both Lok Sabha and Rajya Sabha        (D) None of these 

12. mijk"Vªifr fdrus fnuksa ds fy, pqus tkrs gS\ 

(A)  3 o’kZ (B)  4 o’kZ 

(C)  5 o’kZ (D)  6 o’kZ 

For how many years the Vice-President is elected? 

(A) 3 years (B) 4 years 

(C) 5 years (D) 6 years 

13. ç/kkuea=h dh fu;qfDr lafo/kku ds vuqlkj dkSu djrk gS\ 

(A) mijk"Vªifr  (B)  mik/;{k 

(C) Hkkjr ds eq[; U;k;k/kh”k (D) eq[; pquko vk;qDr 

Who appoints the Prime Minister as according to the Constitution? 

(A) President    (B) Vice-President 

(C) Chief Justice of India (D) Chief Election Commissioner  

14. jkT; esa eaf=ifj"kn lkewfgd :i ls fdlds çfr mÙkjnk;h gksrh gS\ 

(A) fo/kku lHkk  (B) fo/kku ifj’kn  

(C) eq[;ea=h  (D) jkT;iky 

To whom is the council of minister collectively responsible in a state? 

(A) Legislative Assembly (B) Legislative Council  

(C) Chief Minister (D) Governor  

15. jkT;ksa esa fo”ofo|ky;ksa ds dqykf/kifr dkSu gksrs gSa\  

(A) eq[;ea=h (B) jkT;iky  

(C) f”k{kk ea=h (D) buesa ls dksbZ ugha 

Who is the Chancellor of the Universities in states? 

(A) Chief Minister (B) Governor  

(C) Education Minister (D) None of these 

16. fdl vuqPNsn ds vUrxZr jkT;iky v/;kns'k tkjh dj ldrs gS\ 

(A) 212 (B) 213 
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(C) 123 (D) 215 

Under which article governor can issue Ordinances? 

(A) 212 (B) 213 

(C) 123 (D) 215 

17.  lafo/kku lHkk ds v/;{k dkSu Fks\   

(A) ds ,e eqa'kh (B) ch- vkj- vEcsMdj  

(C) M‚- jktsaæ çlkn (D) tokgj yky usg: 

Who was the President the Constituent Assembly?  

(A) K.M. Munshi (B) B. R. Ambedkar  

(C) Dr. Rajendra Prasad (D) Jawahar Lal Nehru 

18. lafo/kku lHkk dh igyh cSBd dc gqbZ Fkh\ 

(A) 8 fnlEcj 1946 (B) 9 fnlEcj 1946 

(C) 10 fnlEcj 1946 (D) 11 tuojh 1947 

When was the first meeting of the Constituent Assembly held? 

(A) 8th December 1946 (B) 9th December 1946 

(C) 10th December 1946 (D) 11th January 1947 

19. lafo/kku lHkk esa çk:i lfefr ds v/;{k dkSu Fks\ 

(A) ljnkj iVsy (B) tokgj yky usg: 

(C) ch- vkj- vEcsMdj (D) ds- Vh- 'kkg 

Who was the chairmen of the drafting committee in the Constituent 

Assembly? 

(A) Sardar Patel (B) Jawahar Lal Nehru 

(C) B.R. Ambedkar (D) K.T. Shah 

20. lafo/kku lHkk dh igyh cSBd dgk¡ gqbZ Fkh\ 

(A) cEcbZ  (B) dydÙkk 

(C) eækl (D) fnYyh 

Where was the first meeting of the Constituent Assembly held? 

(A) Bombay  (B) Calcutta 



Page 8 of 29 
 

(C) Madras (D) Delhi 

21. Hkkjrh; lafo/kku lHkk ds lnL;ksa dh dqy la[;k fdruh Fkh\ 

(A) 1000 (B) 389 

(C) 248 (D) 292 

What was the total numbers members in the Constituent Assembly of 

India? 

(A) 1000 (B) 389 

(C) 248 (D) 292 

22. lafo/kku ds fofHkUu igyqvksa dk v/;;u gsrq lafo/kku lHkk }kjk fdruh lfefr;k¡ 

xfBr dh x;h\ 

(A) 9 (B) 10 

(C) 13 (D) 16 

How many committees were appointed by the Constituent Assembly to 

the study various aspects of the constitution? 

(A) 9 (B) 10 

(C) 13 (D) 16 

23. fdl ekeys esa] loksZPp U;k;ky; us ?kks"k.kk dh fd çLrkouk lafo/kku dk fgLlk 

ugha gS\ 

(A) ds'kokuan dsl  (B) xksYd ukFk dsl 

(C) feuokZ dsl (D) cs:cjh dsl 

In which case, the supreme court declared that permeable is not a part of 

the constitution? 

(A) Keshawanand Case (B) Golk Nath Case 

(C) Minarva Case (D) Berubari Case 

24. fdl lafo/kku la'kks/ku }kjk  ‘lektokn’ Hkkjrh; lafo/kku ds çLrkouk esa 'kCn 

tksM+k x;k \ 

(A) 40 ok¡  (B) 42 ok¡  

(C) 43 ok¡ (D) 44 ok¡   
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Through which Constitutional Amendment, the term ‘Socialist’ was 

added to the Preamble of the Indian Constitution? 

(A) 40th  (B) 42nd  

(C) 43rd  (D) 44th   

25. fdl ns'k ds lafo/kku ls Hkkjr us uhfr funs”kd rRoksa dk fl)kar fy;k gS\ 

(A) fczVsu (B) dukMk 

(C) Ýkal  (D) vk;jySaM 

From which country’s constitution Indian has taken the concept of 

Directive Principles of the policies? 

(A) Britain (B) Canada 

(C) France  (D) Ireland  

26. lafo/kku ds fdl vuqPNsn esa lafo/kku ds la'kks/ku dh çfØ;k of.kZr gS\ 

(A) 356 (B) 360 

(C) 368 (D) 370 

Which article of the Constitution prescribes the procedure for the 

amendment of the Constitution? 

(A) 356 (B) 360 

(C) 368 (D) 370 

27. ‘U;kf;d leh{kk’ dk fl)kar Hkkjrh; lafo/kku us fdl ns”k ds lafo/kku ls fy;k 

gS\ 

(A) la;qDr jkT; vesfjdk (B) fczVsu  

(C) Ýkal (D) fLoV~tjySaM 

From which country’s constitution Indian Constitution has barrowed 

concept of Judicial Review? 

(A) United State of America (B) Britain  

(C) France (D) Switzerland 

28. loZçFke fdl ns'k esa la?kkRed 'kklu LFkkiuk gqbZ\ 

(A) Hkkjr (B) la;qDr jkT; vesfjdk 
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(C) lksfo;r la?k  (D) dukMk 

In which country was the Federal System established for the first time? 

(A) India (B) United State of America 

(C) Soviet Union  (D) Canada 

29. jk"Vªifr dh ladVdkyhu 'kfä;ka fdl ns'k ds lafo/kku ls Nhu yh xbZ gSa\  

(A) fczVsu  (B) dukMk 

(C) vesfjdk (D) ohej teZu lafo/kku  

From which country’s constitution have the emergency powers of the 

President been barrowed?  

(A) Britain  (B) Canada 

(C) America (D) Weimer German   

30.  ewy lafo/kku esa fdrus vuqPNsn Fks\ 

(A) 385 (B) 395 

(C) 340 (D) 375 

How many articles were there in the original constitution? 

(A) 385 (B) 395 

(C) 340 (D) 375 

31. fons'k lEcU/k dk fo"k; fdl lwph esa j[kk x;k gS\ 

(A) la?k lwph  (B) jkT; lwph 

(C) leoÙkhZ lwph (D) buesa ls dksbZ ugha 

Which of the list contains the subject of External Affair? 

(A) Union list (B) State list 

(C) Concurrent list (D) None of the above 

32. fdl [;kfr&çkIr ys[ku us Hkkjr dks v)Zla?k dgk \ 

(A) gesZu Qkbuj (B) ekWfjl tkWUl 

(C) ds- lh- gsO;j  (D) th- vkWfLVu  

Which distinguished write called India quasifederation ? 

(A) Herman Finer (B) Morris Johns 
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(C) K.C. Wheare (D) G. Austin 

33. xksLokeh lfefr dk xBu dc gqvk\ 

(A) 1975 (B) 1990 

(C) 2001 (D) 2005 

When was the Goswami committee formed? 

(A) 1975 (B) 1990 

(C) 2001 (D) 2005 

34. lafo/kku ds fdl Hkkx esa dsUæ vkSj jkT;ksa ds chp foÙkh; laca/kksa dk o.kZu fd;k 

x;k gS\  

(A) nlosa   (B) ukSosa  

(C) X;kjgosa  (D) ckjgosa  

In which part of the constitution the financial relations between centre 

and states are mentioned? 

(A) 10th   (B) 9th  

(C) 11th  (D) 12th 

35. LFkuh; Lo”kklu dk fo’k; fd lwph esa vkrk gS\ 

(A) la?k lwph (B) jkT; lwph  

(C) leoÙkhZ lwph (D) buesa ls dksbZ ugha 

In which list the subject of the local self-government is included ? 

(A) Union list (B) State list  

(C) Concurrent list (D) None of these 

36. Hkkjr esa {ks=h; ifj’knksa dk v/;{k dkSu gksrk gS\  

(A) xg̀ ea=h  (B) ç/kkuea=h  

(C) eq[;ea=h (D) jkT;iky 

Who becomes the chairman of Zonal Councils?  

(A) Home Ministers (B) Prime Minister 

(C) Chief Minister (D) Governor 

37. flfDde dk fdl o’kZ Hkkjrh; la?k esa foy; gqvk\ 
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(A) 1972  (B) 1973  

(C) 1974  (D) 1975  

In which year Sikkim was merged into Indian federation? 

(A) 1972 (B) 1973 

(C) 1974 (D) 1975 

38. fdl jkT; ds i`Fkd~ gksdj lu~ 2009 esa ls NÙkhlx<+ jkT; vfLrRo esa vk;k\ 

(A) vka/kz çns”k  (B) mÙkj çns”k 

(C) e/; çns”k  (D) dukZVd 

By the bifurcation of which state Chhattisgarh came into existence in 

2009? 

(A) Andhra Pradesh  (B) Uttar Pradesh 

(C) Madhya Pradesh  (D) Karnataka 

39. vof”k’V “kfDr;k¡ fuEufyf[kr esa ls fdls çkIr gSa\ 

(A) dsUæ ljdkj  (B) jkT; ljdkj 

(C) LFkkuh; ljdkj   (D) buesa ls dksbZ ugha 

Who from the following has been given residuary powers? 

(A) Central government  (B) State government 

(C) Local government   (D) None of the above 

40. Hkkjr esa lqgB dsUæ ds lkFk&lkFk la?kh; <kaps dk fopkj dgk¡ ls fy;k x;k gS\ 

(A) vesfjdk  (B) vkWLVªsfy;k  

(C) dukMk  (D) teZuh 

From where the idea of federal structure along with a strong centre is 

taken? 

(A) America  (B) Australia  

(C) Canada  (D) Germany  

41. dsUæ&jkT; laca/k esa fookn fuiVkus ds fy, ljdkfj;k deh'ku dh LFkkfir fd;k 

x;k\ 

(A) 1980 esa (B) 1981 esa 
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(C) 1983 esa (D) 1985 esa 

In which year the Sarkaria commission was set up to resolve the centre 

state conflicts? 

(A) 1980 (B) 1981 

(C) 1983 (D) 1985 

42. ekSfyd vf/kdkjksa dks ykxq djus ds fy, fuEufyf[kr esa ls dkSu fjV tkjh dj 

ldrk gS\ 

(A) laln (B) mPp U;k;ky; 

(C) jk’Vªifr (D) pquko vk;ksx 

Who from the following can issue writs for the implementation 

Fundamental Rights? 

(A) Parliament (B) High court 

(C) President (D) Election commission  

43. Hkkjrh; lafo/kku dk dkSu lk vuqPNsn lkoZtfud jkstxkj esa volj dh lekurk 

çnku djrk gS\  

(A) 14 (B) 15 

(C) 16 (D) 17 

Which article of the Indian constitution provides equality of opportunity 

in public employment? 

(A) 14 (B) 15 

(C) 16 (D) 17 

44. Hkkjrh; lafo/kku esa fdrus ekSfyd drZO; mYys[k gSa\ 

(A) 10 (B) 11 

(C) 12 (D) 14 

How many Fundamental Duties have been prescribed in the Indian 

constitution? 

(A) 10 (B) 11 

(C) 12 (D) 14 
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45. Hkkjr ds lafo/kku ds fdl vuqPNsn ds vUrxZr mPpre U;k;ky; fjV dj ldrh 

gS\ 

(A) 30 (B) 32 

(C) 34 (D) 36 

Under which article of the India constitution Supreme Court can writs? 

(A) 30 (B) 32 

(C) 34 (D) 36 

46. Hkkjrh; lafo/kku ds fdl Hkkx dk mís'; yksddY;k.kdkjh jkT; dh LFkkiuk 

djuk gS\ 

(A)  ekSfyd vf/kdkj  (B)  ekSfyd dÙkZO; 

(C)  çLrkouk (D)  jkT; ds uhfr funsZ”kd rRo 

Which part of the Indian constitution aims at establishing social welfare 

state? 

(A) Fundamental Rights  (B) Fundamental Duties 

(C) Preamble (D) Directive Principles 

47. 19osa vuqPNsn esa ukxfjdksa dks fdruh Lora=rk,¡ of.kZr gSa\ 

(A)  5 (B)  6 

(C)  7 (D)  8 

How many freedoms have been provided in article 19 to the citizens? 

(A) 5 (B) 6 

(C) 7 (D) 8 

48. Hkkjrh; lafo/kku dk dkSu lk vuqPNsn mikf/k;ksa ds mUewyu ls lacaf/kr gS\ 

(A) 17 (B) 18 

(C) 19 (D) 24 

Which article of the Indian constitution is related to the abolition of titles? 

(A) 17 (B) 18 

(C) 19 (D) 24 

49. Hkkjrh; lafo/kku ds fdl Hkkx ekSfyd vf/kdkjksa dk o.kZu gS\ 
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(A) nwljk   (B) rhljk  

(C) pkSFkk  (D) ik¡pok¡ 

Which part of the Indian constitution prescribes fundamental rights? 

(A) Second    (B) Third  

(C) Fourth  (D) Fifth  

50. Hkkjrh; lafo/kku dk dkSu lk vuqPNsn lektokn ds fl)kar dks n”kkZrk gS\  

(A) 31 (B) 39 

(C) 48 (D) 50 

Which article of the Indian constitution reflects the idea of socialism? 

(A) 31 (B) 39 

(C) 48 (D) 50 

51.  fdl ekSfyd vf/kdkj ds rgr csxkj dk fu’ks/k fd;k x;k gS\  

(A) lerk dk vf/kdkj (B) Lora=rk dk vf/kdkj 

(C) “kks’k.k ds fo:) vf/kdkj (D) /kkfeZd vf/kdkj 

Which Fundamental Right prohibits farced labour?  

(A) Right to Equality (B) Right to Freedom 

(C) Right against exploitation (D) Right to Religion 

52. ekSfyd vf/kdkjksa ds la”kks/ku esa dkSu l{ke gS\ 

(A) yksdlHkk  (B) jk’Vªifr 

(C) loksZPp U;k;ky;  (D) laln 

Who is authorised to amendment Fundamental Rights? 

(A) Lok Sabha (B) President 

(C) Supreme Court (D) Parliament 

53. lfo/kku ds fdu çko/kkuksa dks U;k; ;ksX; ugha ekuk x;k gS\ 

(A) ekSfyd vf/kdkj (B) jkT; ds uhfr funs”kd rRo 

(C) dkuwuh vf/kdkj (D) buesa ls dksbZ ugha 

Which provisions of the constitutions are non-justiciable? 

(A) Fundamental Rights 
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(B) Directive Principle of  

state policy 

(C) Legal Right (D) None of these 

54. lafo/kku ds fdl la'kks/ku us ekSfyd drZO;ksa dks tksM+k gS\ 

(A) igyk  (B) 24ok¡

(C) 42ok¡  (D) 44ok¡   

Which amendment added fundamental duties to the constitution? 

(A) 1st  (B) 24th  

(C) 42nd  (D) 44th   

55. lafo/kku ds fdl vuqPNsn }kjk vLì';rk dk mUewyu fd;k x;k gS\ 

(A) 18 (B) 15 

(C) 16 (D) 17 

Which article of the constitution abolished untouchability? 

(A) 18 (B) 15 

(C) 16 (D) 17 

56. Hkkjr dk mijk’Vªifr fdl lHkk dk insu lHkkifr gksrk gS\ 

(A) yksd lHkk (B) jkT; lHkk  

(C) fo/kku lHkk (D) buesa ls dksbZ ugha 

Vice-President is the ex-officio chairman of which house? 

(A) Lok Sabha (B) Rajya Sabha 

(C) Vidhan Sabha (D) None of these 

57. laln dh la;qDr vf/kos”k dks dkSu cqykrk gS\  

(A) jk’Vªifr  (B) mijk’Vªifr 

(C) yksd lHkk v/;{k  (D) ç/kkuea=h 

Who calls the joint session of Parliament? 

(A) President  (B) Vice-President 

(C) Lok Sabha Speaker (D) Prime Minister 
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58. Hkkjrh; lafo/kku eas la'kks/ku ds fy, fo/ks;d dgk¡ yk;k tk ldrk gS\ 

(A) dsoy yksd lHkk esa (B) dsoy jkT; lHkk esa 

(C) yksdlHkk ;k jkT;lHkk (D) loksZPp U;k;ky; 

According to the constitution, amendment bill can be introduced in which 

house? 

(A) Only in Lok Sabha    (B)Only in Rajya Sabha 

(C)    Either in Lok Sabha as in Rajya Sabha (D) Supreme Court 

59. yksdlHkk dh çFke efgyk lHkkifr dkSu Fkh\ 

(A) lqfe=k egktu (B) ehjk dqekj 

(C) lq"kek Lojkt (D) çfrHkk ikfVy 

Who was the first women speaker of Lok Sabha? 

(A) Sumitra Mahajan (B) Meera Kumar 

(C) Sushma Swaraj (D) Pratibha Patil 

60. Hkkjr esa fdlh fo/ks;d dks /ku fo/ks;d dkSu çekf.kr djrk gS\ 

(A)  jk’Vªifr  (B)  ç/kkuea=h  

(C)  mijk’Vªifr  (D)  yksdlHkk v/;{k  

Who certifies any bill to be money bill? 

(A) President  (B) Prime Minister 

(C) Vice-President (D) Speaker of Lok Sabha 

61. yksdlHkk esa la?k'kkflr çns'kksa dks fdrus LFkku fn, x;sa gSa\ 

(A) 20 (B) 21 

(C) 22 (D) 23 

How many seats are allotted to Union territories in Lok Sabha? 

(A) 20 (B) 21 

(C) 22 (D) 23 

62. fdl ç/kkuea=h ds 'kklu dky esa nycny fojks/kh vf/kfu;e ikl fd;k x;k 

Fkk\ 

(A) jktho xka/kh (B) bafnjk xka/kh 
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(C) eueksgu flag (D) vVy fcgkjh 

Under which prime minister rule the Anti-Defection Bill was passed? 

(A) Rajiv Gandhi (B) Indira Gandhi 

(C) Manmohan Singh (D) Atal Bihari 

63. jkT;lHkk ds lnL;ksa dk dk;Zdky fdruh gksrk gS\ 

(A) 2 o’kZ (B) 4 o’kZ 

(C) 6 o’kZ (D) 8 o’kZ 

What is the tenure of the numbers of Rajya Sabha? 

(A) 2 years (B) 4 years 

(C) 6 years (D) 8 years 

64. jk"Vªifr laln ds fdl lnu dk lnL; gksrk gS\ 

(A)  yksdlHkk (B)  jkT; lHkk  

(C)  nksuksa lnuksa dk (D)   fdlh Hkh lnu dk ugha 

President is member of which house? 

(A) Lok Sabha (B) Rajya Sabha 

(C) Both the houses (D) Neither of the house 

65.  orZeku esa yksdlHkk ds lnL;ksa dh la[;k fdruh gS\ 

(A) 543 (B) 600 

(C) 550 (D) 525 

At Present what is the strength of the members of Lok Sabha? 

(A) 543 (B) 600 

(C) 550 (D) 525 

66.  yksd lHkk dk fo?kVu dkSu dj ldrk gS\ 

(A) ç/kkuea=h      (B) yksd lHkk 

(C) jk’Vªifr              (D) loksZPp U;k;ky; ds eq[; U;k;k/kh”k 

Who can dissolve the Lok Sabha 

(A) Prime Minister (B) Speaker of Lok Sabha 

(C) President        (D) Chief Justice of Supreme Court  
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67. vBkjgoha yksdlHkk ¼2024½ esa dkaxzsl ikVhZ dks fdruh lhVsa feyh gSa\ 

(A) 95 (B) 99 

(C) 125 (D) 240 

How many seats has congress party won in 18th Lok Sabha (2024)? 

(A) 95 (B) 99 

(C) 125 (D) 240 

68. fuEufyf[kr esa ls Hkkjr ds fdl jkT; esa] dksbZ f}&lnuh; fo/kk;hdk ugha gS\ 

(A) fcgkj  (B) mÙkj çns”k 

(C) dukZVd (D) >kj[k.M 

In which of the following sates, there is no bi-cameral legislative? 

(A) Bihar (B) Uttar Pradesh 

(C) Karnataka (D) Jharkhand 

69. fo/kku lHkk dk lnL; gksus ds fy, U;wure vk;q D;k gksrh gS\ 

(A) 21 (B) 25 

(C) 30 (D) 35 

What is the required minimum age to become member of legislative 

assembly? 

(A) 21 (B) 25 

(C) 30 (D) 35 

70. dsUæh; eaf=ifj"kn fdlds çfr  lkewfgd :i ls mÙkjnk;h gS\ 

(A) jk"Vªifr  (B) ç/kkuea=h 

(C) jkT; lHkk (D) yksdlHkk 

To whom the union council of ministers is collectively responsible? 

(A) President  (B) Prime Minister 

(C) Rajya Sabha (D) Lok Sabha 

71. fdl lnu esa v/;kidksa vkSj Lukrdksa fy, lhVsa vkjf{kr dh xbZ gSa\ 

(A) jkT; lHkk (B) yksdlHkk 

(C) fo/kkulHkk (D) fo/kku if’kn  
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In which chember seats have been reserved for the graduation and the 

teachers? 

(A) Rajya Sabha (B) Lok Sabha 

(C) Vidhan Sabha (D) Vidhan Parisad 

72. fdlh jkT; dh fo/kkulHkk esa vf/kd&ls&vf/kd fdrus LFkku gks ldrs gSa\ 

(A) 400 (B) 500 

(C) 600 (D) 300 

How many seats at the most may be there in a state Vidhan Sabha? 

(A) 400 (B) 500 

(C) 600 (D) 300 

73. loksZPp U;k;ky; ds U;k;k/kh'kksa dh vodk'k vk;q fdruh gS\   

(A) 60 o’kZ (B) 62 o’kZ 

(C) 65 o’kZ (D) 66 fnu 

What is the retirement age of the judges of Supreme Court?  

(A) 60 Years (B) 52 years 

(C) 65 years (D) 66 years 

74.  Hkkjr es mPp U;k;ky;ksa ds U;k;k/kh'kks dh fu;qfä dkSu djrk gS\ 

(A) loksZPp U;k;ky; ds eq[; U;k;k/kh'k    (B)  jk"Vªifr 

(C)   ç/kkuea=h  (D) eq[; pquko vk;qDr  

Who appoints the judge of High courts of India? 

(A) Chief Justice of Supreme court   (B) President 

(C)     Prime Minister     (D) Chief Election Commissioner  

75. Hkkjr esa dqy fdrus mPp U;k;ky; gSa\ 

(A) 18 (B) 21 

(C) 24 (D) 25 

How many High Courts are there in India? 

(A) 18 (B) 21 
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(C) 24 (D) 25 

76. iVuk mPp U;k;ky; dh LFkkiuk dc gqbZ Fkh\ 

(A) 1950 esa (B) 1935 esa 

(C) 1916 esa (D) 1915 esa 

When was Patna High Court established? 

(A) 1950 (B) 1935 

(C) 1916 (D) 1915 

77. IysVks us fdl iqLrd esa U;k; laca/kh vo/kkj.kk dks fn;k gS\ 

(A) jktuhfr (B) x.kra= 

(C) dher (D) lkekftd vuqca/k 

In which book Plate presented his concept of Justice? 

(A) Politics (B) The Republic 

(C) The Prince (D) Social Contract 

78. fcgkj esa mPp U;k;ky; dgk¡ vofLFkrgS\ 

(A) njaHkaxk (B) x;k 

(C) iVuk (D) eqt¶Qjiqj 

Where is High court situated in Bihar? 

(A) Darbhanga (B) Gaya 

(C) Patna (D) Muzaffarpur  

79. Hkkjr esa lcls cM+k vihyh; U;k;ky; dkSu gS\ 

(A) loksZPp U;k;ky;  (B) mPp U;k;ky; 

(C) tu vnkyr (D) buesa ls dksbZ ugha 

Which is the highest court of appeal in India? 

(A) Supreme Court  (B) High Court 

(C) Public Court (D) None of these 

80. Hkkjr ds loksZPp U;k;ky; esa eq[; U;k;k/kh'k dks ysdj fdrus U;k;k/kh'k gS\ 

(A) 31 (B) 34 

(C) 33 (D) 35 
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What is the number of judges in Supreme Court of India including chief 

justice? 

(A) 31 (B) 34 

(C) 33 (D) 35 

81. mPp U;k;ky; ds U;k;k/kh'kksa dh la[;k fu/kkZfjr djus dh vf/kdkj fdls çkIr  

gS\ 

(A) laln  (B) jk’Vªifr 

(C) Hkkjr ds eq[; U;k;k/kh'k (D) ç/kkuea=h  

Who has the power to determine the number of judges of a High Court? 

(A) Parliament  (B) President 

(C) Chief Justice of India (D) Prime Minister 

82. Hkkjrh; lafo/kku ds fdl vuqPNsn ds vuZ~rxr  mPp U;k;ky; fjV tkjh dj  

ldrh gS\ 

(A) 224 (B) 226 

(C) 228 (D) 32 

Under which article of the Indian constitution, High court can issue writs? 

(A) 224 (B) 226 

(C) 228 (D) 32 

83. Hkkjr ljdkj rFkk jk"Vªifr dk dkuwuh lykgdkj dkSu gksrk gSa\ 

(A) odhy (B) i{kdkj 

(C) egkU;k;oknh  (D) buesa ls dksbZ ugha 

Who is the legal advisor of Indian government and President? 

(A) Advocate (B) Litigant 

(C) Attorney General  (D) None of these  

84. dkuwu ds 'kklu dk fopkj fdlus fn;k\ 

(A) ch- vkj- vEcsMdj  (B) ,- oh- Mk;lh 

(C) csUFke  (D) ykLdh 

Who gave the concept of Rule of law? 
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(A) B.R. Ambedkar  (B) A.V. Diecy 

(C) Bentham  (D) Laski 

85. loksZPp U;k;ky; ds U;k;k/kh'kksa dh la[;k es dkSu òf) dj ldrk gS\ 

(A) jk’Vªifr (B) ç/kkuea=h 

(C) dsUæh; ea=hifj’kn (D) laln 

Who can increase the number of Judges of the Supreme Court? 

(A) President (B) Prime Minister 

(C) Union of council off Minister (D) Parliament 

86.  yksdlHkk esa ,aXyks&bafM;Ul ds fy, fdruh LFkku vkjf{kr Fks\ 

(A) 2 (B) 3 

(C) 4 (D) ,d Hkh ugha 

How many seats were reserved in Lok Sabha for Anglo-Indian? 

(A) 2 (B) 3 

(C) 4 (D) Not a single one 

87. Hkkjrh; lafo/kku ds fdl Hkkx es pquko vk;ksx dh O;oLFkk gS\ 

(A) XV (B) DXIV  

(C) XVI (D) XIX 

Which part of the Indian constitution provides Election commission? 

(A) XV (B) DXIV 

(C) XVI (D) XIX 

88. Hkkjr ds pquko vk;ksx esa fdrus lnL; gSa\ 

(A) 1 (B) 2 

(C) 3 (D) 4 

How many numbers are there in election commission? 

(A) 1 (B) 2 

(C) 3 (D) 4 

89. Hkkjr ds eq[; pquko vk;qä dks gVkus dh 'kfä fdls çkIr gS\ 

(A) jk"Vªifr (B) ç/kkuea=h 
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(C) jkT;iky (D) laln 

Who has the power to remove the chief election commissioner of India? 

(A) President (B) Prime Minister 

(C) Governor (D) Parliament  

90. Hkkjr esa jktuhfrd nyksa dks pquko fpà dkSu çnku djrk gS\ 

(A) mPp U;k;ky;  (B) fuokZpu vk;ksx  

(C) uhfr vk;ksx (D) jk"Vªifr 

Who assigns electoral symbols to political parties in India? 

(A) High Court  (B) Election Commission  

(C) Niti Ayog (D) President 

91. Hkkjr esa uxjh; ç'kklu fdl ok;ljk; dh nsu gS\ 

(A) y‚MZ dSfuax  (B) y‚MZ fjIiu 

(C) y‚MZ dtZu   (D) y‚MZ feaVks  

Which viceroy established municipal administration in India ? 

(A) Lord canning  (B) Lord Rippon 

(C) Lord Curzon (D) Lord Minto 

92. lafo/kku ds fdl vuqPNsn esa xzke iapk;rksa dh LFkkiuk dk dh ckr dgh x;h gS\ 

(A) 39 (B) 40 

(C) 42 (D) 45 

Which article of the constitution mentions establishment of Gram 

Panchayats? 

(A) 39 (B) 40 

(C) 42 (D) 45 

93. iapk;rh jkt fnol dceuk;k tkrk gS\ 

(A) 15 vxLr (B) 26 tuojh  

(C) 24 vçSy  (D) 14 uoEcj  

On which date Panchayati Raj day is celebrated? 

(A) 15th August (B) 26th January 
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(C) 24th April (D) 14th November  

94.  fdl laoS/kkfud la'kks/ku ls LFkkuh; Lo'kklu dks etcwr vk/kkj feyk\ 

(A) 73oka vkSj 74oka  (B) 10oha और 12oha 

(C) 75oka vkSj 75oka  (D) buesa ls dksbZ ugha

By which constitutional amendment local self-government for a strong 

base? 

(A) 73th and 74th  (B) 10th and 12th  

(C) 75th and 75th  (D) None of these 

95.  Hkkjr vkSj ikfdLrku ds chp rk'kdan le>kSrk dc gqvk Fkk\ 

(A) 1965 (B) 1966 

(C) 1970 (D) 1971 

When was Tashkand agreement signed between India and Pakistan? 

(A) 1965 (B) 1996 

(C) 1970 (D) 1971 

96. lkdZ dk eq[;ky; dgk¡ gS\ 

(A) ubZ fnYyh (B) <kdk 

(C) dkBekaMw (D) fFkaiw 

Where is the head quarter of SAARC situated? 

(a) New Delhi (b) Dhaka 

(c) Kathmandu (d) Thimpu 

97. xqVfujis{k vkanksyu dh LFkkiuk dc gqbZ Fkh\ 

(A) 1960 (B) 1961 

(C) 1962 (D) 1963 

When was the Non-Aligned Movement founded? 

(A) 1960 (B) 1961 

(C) 1962 (D) 1963 

98. mYQk fdl ns'k dk vkradoknh laxBu gS\ 

(A) Jhyadk (B) ikfdLrku 
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(C) Hkkjr (D) :l 

Which country’s terrorist organisation is ULFA? 

(A) Srilanka (B) Pakistan 

(C) India (D) Russia 

99. la;qä jk"Vª la?k ds fdrus vax gS\ 

(A) 2 (B) 3 

(C) 4 (D) 6 

What is the number of organs of United Nation Organisation? 

(A) 2 (B) 3 

(C) 4 (D) 6

100. la;qä jk"Vª la?k dh LFkkiuk dc gqbZ Fkh\ 

(A) 1945  (B) 1950  

(C) 1952  (D) 1956  

When was UNO founded? 

(A) 1945 (B) 1950 

(C) 1952 (D) 1956 

 

[k.M&c / SECTION– B 

y?kqmÙkjh; ç'u / Short Answer Type Question . 

 

ç'u la[;k 1 ls 30 y?kq mÙkjh; gSaA fdUgha 15 ç'uksa ds mÙkj nsaA çR;sd ds fy, 2 vad 

fu/kkZfjr gSA vf/kdre 30&40 “kCnksa esa mÙkj nsaA    𝟏𝟓 × 𝟐 = 𝟑𝟎 

Question Nos. 1 to 30 are Short Answer Type. Answer any 15 questions. Each 

question Carries 2 marks. Answer in not more than 40-60 words. 15 × 2 =  30 

1. uDlyokn D;k gS\         2 

What is naxalism? 

2. volj dh lekurk ls vki D;k le>rs gS\     2 
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What do you mean Equality of opportunity? 

3. {ks=okn ls D;k vfHkçk; gS\        2 

What is meant by regionalism? 

4. lkekftd U;k; ls vki D;k le>rs gSa\      2 

What do you understand by social justice? 

5. 74o‚ lafo/kku la'kks/ku D;k gS\       2 

What is 74th constitutional amendment? 

6. xzke iapk;r ds fdUgha nks dk;ksaZ dk o.kZu dh djsa\    2 

Describe any two functions gram Panchayat? 

7. jk"Vªifr 'kklu  fdlh jkT; esa dc yxk;k tkrk gS\    2 

When is the president Rule in a state imposed? 

8. lg;ksxh la?kokn dk Hkkjr esa dk D;k vFkZ gS\     2 

What is the meaning of co-operation Federalism in India? 

9. Hkkjrh; jk"Vªifr dh U;kf;d 'kfä;k¡ D;k gSa\     2 

What are the judicial powers of India President? 

10. jkT; ds 'kklu esa jkT;iky dh D;k fLFkfr gS\     2 

What is the position of governor in the governance of state? 

11. eq[;ea=h ds fdUgha nks dk;ksaZ dk o.kZu djsa\     2 

Describe any two functions of chief minister? 

12. yksdlHkk dkuwu cukus esa fdruk 'kfä'kkyh gS\     2 

How powerful is Lok Sabha in the enactment of laws? 

13. mPp U;k;ky; ds fjV tkjh djus dh 'kfä foospuk djsa\   2 

Discuss the writ issuing power of High Court? 

14. jkT;lHkk dks LFkk;h lnu D;ksa dgk tkrk gS\     2 

Why is Rajya Sabha called a permanent house? 

15. yksdlHkk v/;{k dk dSls pquk tkrk gS\      2 

How is the speaker of Lok Sabha elected? 

16. jk"Vªh; vkikrdky ls vkidk D;k vfHkçk; gSa\     2 



Page 28 of 29 
 

What do you understand by National Emergency? 

17. ,dh—r ;k bdgjh U;k;ikfydk dk Hkkjr ds lanHkZ esa vFkZ crk,aA  2 

Explain the meaning of unified or integrated judiciary in the context of 

India?  

18. /kkfeZd Lora=rk ds vf/kdkj ij ,d laf{kIr uksV fy[ksa A    2 

Write a short note on the right to religion freedom? 

19. jkT; ds uhfr funs”kd rRoksa dk D;k egÙo gS\     2 

What is the important of directive Principles of state policies? 

20. ekSfyd drZO;ksa dks Hkkjrh; lafo/kku esa dc vkSj D;ksa tksM+k x;k\  2 

When and why were fundamental duties added do the Indian 

Constitution? 

21. Hkkjr esa lkaçnkf;drkokn leL;k ds nks dkj.kksa dks crk,aA    2 

Explain the two causes for the problem of communalism in India? 

22. jk"Vªifr dk fuokZpu fdlds }kjk gksrk gS\     2 

By whom the President is elected?  

23. fofHkUu jktuhfrd nyksa dks pquko fpà dkSu çnku djrk gS\   2 

Who allocates electoral symbols to different political parties? 

24. fo'o O;kikj laxBu D;k gS\       2 

What is the Word Trade Organisation? 

25. nycny fojks/kh dkuwu D;k gS\       2 

What is the Anti-Defection Law? 

26. lkdZ ds nks mís';ksa dk o.kZu djsa\       2 

Describe the two objective of SAARC? 

27. Hkkjr ds fons'k uhfr ds nks fu/kkZjd rRo crk,aA     2 

Explain the two determinations of Indian foreign policy? 

28. varjkZ"Vªh; U;k;ky; dk {ks=kf/kdkj D;k gS\     2 

What is the jurisdiction of International Court of Justice? 

29. xBca/ku ljdkj dh nks fo'ks"krkvksa dk mYys[k djsa\    2 
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Mention two features of coalition government? 

30.  U;k;ikfydk dh Lora=rk vkSj fu"i{krk ls vkidk D;k le>rs gS\  2 

What do you mean by the independent and impartiality of Judiciary? 

 

 

 

nh?kZ mÙkjh; ç'u / Short Answer Type Question . 

ç'u la[;k 31 ls 38 nh?kZ mÙkjh; gSaA fdUgha 4 ç'uksa ds mÙkj nsaA çR;sd ds fy, 5 vad 

fu/kkZfjr gSA vf/kdre 120&140 “kCnksa esa mÙkj nsaA    𝟒 × 𝟓 = 𝟐𝟎 

Question Nos. 31 to 30 are Long Answer Type. Answer any 4 questions. Each 

question Carries 5 marks. Answer in not more than 120-140 words.  4 × 5 = 20 

 

31. Hkkjrh; lafo/kku dh çeq[k fo'ks"krkvksa dk mYys[k djsa\    5 

Mention salient features of the Indian constitution. 

32. jkT; ds uhfr funs”kd fl)karksa ds egÙo dh foospuk djsa\   5 

Discuss the importance of Directive Principles of state Policies? 

33. fuokZpu vk;ksx dh xBu] dk;ksaZ vkSj 'kfä;ksa dh leh{kk djsa\   5 

Assess the composition functions and powers of Election commission? 

34. Hkkjr ds ç/kkuea=h ds 'kfä ,oa fLFkfr dh vkykspukRed O;k[;k djsa A 5 

Critically analyse the powers and position of Indian Prime Minister? 

35. Hkkjrh; lafo/kku esa la'kks/ku dh rhu fof/k;ksa dh o.kZu djsa\   5 

Explain the three methods fundament in the Indian constitution? 

36. mPp U;k;ky;ksa ds xBu o muds vf/kdkj {ks= dh foospuk djsa A  5 

Describe the composition and jurisdiction of High Courts. 

37. fo'o jktuhfr esa lkdZ dh D;k çklafxdrk gS\     5 

What is the relevance of SAARC in world politics? 

38. Hkkjrh; fons'k uhfr ds ewyHkwr fl)kar D;k gS\     5 

What are the basic principle of India’s Foreign Policy? 


